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NEW QUESTION 1
Given:

A. 2:MyPir..jpAg:MyPi
B. jpag
C. 2: pics:Mypic.jpcg
D. 1:Pics:/Pics/MyPic.jpeg
E. An exception is thrown at run tim

Answer: A

NEW QUESTION 2
You are asked to implement an interface that processes a batch of transaction objects and returns a discounted value for each transaction as a double primitive
value.
Which interface can you use to accomplish the task?

A. ToDoubleFunction
B. DoubleConsumer
C. DoubleFunction
D. DoubleSuppLier

Answer: A

NEW QUESTION 3
Which three must be used when using the java.util-concurrent package to execute a task that returns a result without blocking?

A. Future
B. Runnable
C. ExecutorService
D. Callable
E. Thread
F. Executor

Answer: ACD

NEW QUESTION 4
Given the code fragments:

What is the result?

A. The program prints Run… and throws an exception.
B. Run… Call…
C. A compilation error occurs at line n2.
D. A compilation error occurs at line n1.

Answer: B

NEW QUESTION 5
Given the code fragment:
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Which code fragment could you use to refactor the code from line 4 to 8 to use a Lambda expression?

A. Vehicle V =(int speed) -> =[int.speed) system.out.prin
B. (Fly at” + speed} ;
C. Vehicle V = speed -> [system.outprint(“Fly at “ + speed) ] ;
D. Vehicle V = int speed -> System.cut.print (“Fly at “+ speed} ;
E. Vehicle V = new vehicle (int speed) (System.out.print{ Fly at “+speed); };

Answer: B

NEW QUESTION 6
In 2015, daylight saving time in the New Yourk, beings on March 8th at 2:00 AM. As a result, AM becomes 3:00 AM.
Given the code fragment:

Which is the result?

A. 3:00 – difference: 2
B. 4:00 – difference: 2
C. 4:00 – difference: 2
D. 2:00 – difference: 1

Answer: A

NEW QUESTION 7
Given the code fragment:

What is the result?

A. NULL
B. An exception is thrown at runtime.
C. blank
D. Compilation fails
E. invalid

Answer: B

NEW QUESTION 8
Which two states are valid for a watch key?

A. Ready
B. Not Runnable
C. Runnable
D. Does not Exist
E. Signalled
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Answer: AE

NEW QUESTION 10
......
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